Reference : EXAM / JPP / BITIC / JAIPUR / BE-CS-NONCOLLEGIATE / (NC/17)/ 2016-2017 By the order of Examination committee , the following is the result of BE-CS - NONCOLLEGIATE Semester held in the month of NOV-2017

Date : 14-DEC-2017

SESSION :	: 2016-2017 CLASS : BE-CS			BRAN	СН :	ENGINE	ERING				SEME	ESTER /	TRIME	STER	: N	ONCO	LLEGL	ATE	Ν	MONTH OF EX	AM : N	VOV-2017
ROLL NO	NAME		EC2001(3)		CS8031(3) _		CS6	103(4) -		-	MA12		-		-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25017/13	SHUBHAM SHAKYWAR	U	-	-	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	15.0	3.0	5.00	
BE/25017/15	SHOBHAW SHAKT WAR	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	5.0	5.00	-
DE/25024/12		U	-	-	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	15.0	2.0	5.00	
BE/25024/13	RAHUL GUPTA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	3.0	5.00	-
DE/25102/12		U	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	3.0	5.00	
BE/25103/13	KUNAL PAREEK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	5.0	5.00	-
DE/26117/12		U	-	-	-	-	-	-	С	20.0	F	0.0	-	-	-	-	-	-	20.0	8.0	2.50	
BE/25117/13	ANAMIKA KUMARI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0			-
DE/(222/12		U	С	15.0	-	-	С	20.0	С	20.0	-	-	-	-	-	-	-	-	55.0	11.0	5.00	
BE/6233/13	UTKARSH DAYAL	L	-	-	-	-	-	-	-	-	-	-	-	- 1	-	-	-	-	55.0	11.0	5.00	-
EC2001(3) CS8031(3) CS6103(4) MA2201(4) MA1201(4) -	PRINCIPLES OF ELECTRONICS ENGIN DATA MINING & DATA WAREHOUSIN SYSTEM PROGRAMMING ADVANCED ENGINEERING MATHEM. ENGINEERING MATHEMATICS .	١G			<u> </u>	- - - - - - - - - -			: : : : : :		1		<u> </u>							Pander, troller of Exami	-	<u>.</u>

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference : EXAM / JPP / BITIC / JAIPUR / BE-EC-NONCOLLEGIATE / (NC/17)/ 2016-2017 By the order of Examination committee , the following is the result of BE-EC - NONCOLLEGIATE Semester held in the month of NOV-2017

Date : 14-DEC-2017

SESSION	: 2016-2017 CLASS : BE-E	С		BRAN	CH :	ENGIN	EERING				SE	MESTE	R / TRI	MESTEI	R : N	IONCOL	LEGIA	ГЕ	MONTH OF EXAM : NOV-2017				
ROLL NO	NAME	U L	EC4207(3) MA2201(4)			205(3) 207(3)		203(4) 401(3)		201(3) 201(4)		201(3) 301(4)	EC62	-	EC62	-	MA1201(4)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS	
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.					
BE/25016/13	DIVYANSHU NARAYAN	U	С	15.0	-	-	С	20.0	-	-	-	-	-	-	-	-	С	20.0	75.0	15.0	5.00	_	
BE/25010/15		L	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	/5.0	15.0	5.00	_	
BE/25119/13	KESHAV TRIPATHI	U	-	-	-	-	-		-	-	-	-	-	-	-	-	-	<u> </u>	20.0	4.0	5.00	-	
101,2011,710		L	C	20.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0				
BE/25149/13	AISH KHAMESRA	U	-	-	С	15.0	-		-	-	-	-	-	-	-	-	-	<u> </u>	15.0	3.0	5.00	-	
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-						
BE/25151/13	KESHAV ARORA	U	-	-	-	-	C	20.0	-	-	-	-	-	-	-	-	-	<u> </u>	20.0	4.0	5.00	-	
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	<u> </u>					
BE/25161/13	HARSHIT MATHUR		С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	3.0	5.00	-	
			-	-	-	-	- C	-	-	-	-	-	-	-	- C	-	-	20.0					
BE/25163/13	ARIF AMIN SHAIKH		- C	- 20.0	-	-	C	20.0	- C	- 20.0	- C	- 20.0	-	-		15.0	C	20.0	130.0	26.0	5.00	-	
				20.0	C	15.0	C	20.0	C C	15.0	C	15.0	C	<u> </u>	C	15.0	<u> </u>						
BE/25168/13	PRASHANT KUMAR		-	-	Ľ	15.0	C	20.0	C	15.0	Ľ	15.0	C	15.0		15.0	-	-	95.0	19.0	5.00	-	
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-					
EC4207(3) EC3205(3) EC4203(4) EC4201(3) EC5201(3) EC6203(3) EC6203(3) MA1201(4)	 ELECTROMAGNETIC THEORY SEMICONDUCTOR DEVICES ANALOG COMMUNICATION SYSTEM VLSI DESIGN DIGITAL COMMUNICATION SYSTEM FIBER OPTICS COMMUNICATION SY COMPUTER NETWORKING ENGINEERING MATHEMATICS 	Л	М			EC42 CH14	401(3) 201(4)		: ELEC : ENG : ENG	ANCED CTROMA INEERIN INEERIN DAMEN aimer	AGNET NG CHI NG ME	IC THE EMISTR CHANIC	ORY Y CS							Pandey Iller of Examina			

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

	XAM / JPP / BITIC / JAIPUR / BE-EC-NONCO mination committee, the following is the result			` '			er held in	n the mon	th of N	OV-2017					Date :	14-DI	EC-201	7				
SESSION	: 2016-2017 CLASS : BE-E	: 2016-2017 CLASS : BE-EC BRANCH : ENGINEERING										MESTE	R / TRI	MESTER	М	MONTH OF EXAM : NOV-2017						
ROLL NO	NAME	U L	MA12 MA22				EC3201(4) CH2203(3)		EC3203(3) EC4203(4)			EC3205(3) EC4201(3)		EE3205(4) EC6203(3)		207(3) 205(3)	CS7107(3) EC2001(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
	1		GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.		GR.	PT.	GR.	PT.	GR.	PT.		<u> </u>		<u> </u>
BE/25038/13	ADITI YADAV	L	-	-	C -	20.0	-	20.0	C -	15.0	-	15.0	- C	20.0	C -	15.0	- C	15.0	120.0	24.0	5.00	-
BE/25120/13	AKSHUL GOYAL	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50.0	10.0	5.00	-
MA1201(4) AM1201(4) EC3201(4) EC3203(3) EC3205(3) EC3205(4) EC4207(3) CS7107(3)														13.0	Contr	Pander roller of Examir	r. nations	L				

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference : EXAM / JPP / BITIC / JAIPUR / BE-EE-NONCOLLEGIATE / (NC/17)/ 2016-2017 By the order of Examination committee , the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of NOV-2017

Date : 14-DEC-2017

SESSION	: 2016-2017 CLASS : BE-E	E		BRAN	ICH :	ENGIN	EERINC	ì			SE	MESTER	R / TRI	MESTER	R : N	IONCOL	LEGIA	TE	М	ONTH OF EXA	M : N	OV-2017
ROLL NO	ROLL NO NAME			EE4209(4) EE4207(4)		EC3201(4) EC2001(3)		201(3) 203(3)		203(3) 201(4)		203(3) 201(3)		207(3) 201(4)	EE6203(3)		EE5201(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25012/13	SACHIN KUMAR BATKI	U	-	-	-	-	-	-	- C	- 20.0	-	-	-	-	-	-	-	-	20.0	4.0	5.00	-
DE/25051/12		U	C	20.0	-	-	-	-	C	15.0	-	-	C	15.0	-	-	-	-	05.0			
BE/25071/13	RAHUL KHATRI	L	С	20.0	С	15.0	-	-	F	0.0	-	-	-	-	-	-	-	-	85.0	21.0	4.05	-
BE/25106/13	AMIT KUMAR BHARTI	U	C	20.0	F	0.0	С	15.0	С	15.0	С	15.0	F	0.0	С	15.0	С	15.0	115.0	30.0	3.83	-
			C	20.0	-	-	- C	- 15.0	- C	- 15.0	- C	- 15.0	- C	- 15.0	-	-	- C	- 15.0		28.0	3.75	
BE/25111/13	CHIRANJEEV KOCH	L	-	-	C	15.0	F	0.0	F	0.0	C	15.0	-	-	-	-	-	-	105.0			-
BE/25159/13	RAJKISHORE MAHTO	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	
BE/23139/13	KAJKISHOKE MAIITO	L	-	-	-	-	-	-	С	20.0	-	-	-	-	-	-	-	-	20.0	4.0	5.00	
BE/25178/13	ARPIT GOYAL	U	С	20.0	-	-	-	-	-	-	-	-	-	-		-			20.0	4.0	5.00	-
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
EE4209(4) EC3201(4) EE4201(3) EE4203(3) EE5203(3) EE5207(3) EE6203(3) EE5201(3)	: DIGITAL ELECTRONICSEC2001(3): ELECTRICAL MEASUREMENT & INSTRUMENTATIONCH2203(3): ELECTRICAL MACHINE IMA1201(4): ELECTRICAL MACHINES – IIEE6201(3)										OF EL ENTAL NG MA HEORY	ROCESS ECTRON SCIENC THEMA C ECTRIC	NICS E CE TICS						Contr	Pander oller of Examin	ations	

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer

Reference : EXAM / JPP / BITIC / JAIPUR / BE-EE-NONCOLLEGIATE / (NC/17) 2016-2017 By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of NOV-2017 Date : 14-DEC-2017 SESSION : 2016-2017 CLASS BE-EE BRANCH : ENGINEERING SEMESTER / TRIMESTER NONCOLLEGIATE MONTH OF EXAM NOV-2017 MA1201(4) EE3201(3) EE3205(4) EE4203(3) EE5201(3) EE5203(3) EE5207(3) EE3207(3) TOTAL CREDIT TOTAL ROLL NO NAME SGPA REMARKS CH2203(3) BT3021(3) EE4209(4) EC2001(3) CH1402(2) PH1201(4) EE6205(4) AM1201(4) CREDITS POINTS PT. GR. PT. GR. PT. GR. PT. GR. PT. GR. PT. GR. PT. GR PT. GR. С 15.0 С 15.0 С 15.0 С 15.0 F 0.0 ---_ --BE/25078/13 KULDEEP MEENA 4.33 130.0 30.0 _ С 15.0 С 20.0 С 15.0 С 20.0 -----_ --F 0.0 С 15.0 F 0.0 F 0.0 С 15.0 С 15.0 F 0.0 F 0.0 BE/25134/13 ANKAJ KUMAR 45.0 30.0 1.50 -F 0.0 _ _ -----_ -MA1201(4) : ENGINEERING MATHEMATICS EE6205(4) INDUSTRIAL DRIVES & CONTROL EE3201(3) : INTRODUCTION TO SYSTEM THEORY CH2203(3) ENVIRONMENTAL SCIENCE EE3205(4) : NETWORK THEORY AM1201(4) : ENGINEERING MECHANICS : BIOLOGICAL SCIENCE EE4203(3) : ELECTRICAL MACHINE I BT3021(3) : MICROPROCESSOR & MICROCONTROLLER EE4209(4) ENGINEERING ELECTROMAGNETICS EE5201(3) EE5203(3) : ELECTRICAL MACHINES – II EC2001(3) PRINCIPLES OF ELECTRONICS ENGINEERING Controller of Examinations EE5207(3) : POWER SYSTEM - I CH1402(2) CHEMISTRY LAB EE3207(3) : ELECTRICAL ENERGY GENERATION & CONTROL PH1201(4) PHYSICS Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

SESSION	amination committee , the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of NC I : 2016-2017 CLASS : BE-EE BRANCH : ENGINEERING											IESTER	/ TRIM	ESTER	: N	M	MONTH OF EXAM : NOV-2017					
		U	MSH	MSH1131(3)		EE3201(3)		05(4)	EE42	203(3)		EE5201(3) EE4209(4)		03(3)	EE5207(3)		_	207(3)				
ROLL NO	NAME	L	EE62	205(4)	CH2	CH2203(3)		AM1201(4)		BT3021(3)				EC2001(3)		CH1402(2)		201(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				<u> </u>
BE/25096/13	SUSHIL SHARMA	U C	C	15.0	-	-	-	-	С	15.0	С	15.0	С	15.0	-	-	C	15.0	150.0	30.0	5.00	_
BE/23070/13	SUSHIE SHARWA	L	-	-	С	15.0	-	-	C	15.0	-	-	С	15.0	C	10.0	С	20.0	150.0	50.0		
MSH1131(3) EE3201(3) EE3205(4) EE4203(3) EE5201(3) EE5203(3) EE5207(3) EE3207(3)	Image: SH1131(3) : PRINCIPLES OF MANAGEMENT EE6205(4) : IN INTRODUCTION TO SYSTEM THEORY CH2203(3) : EM INTRODUCTION TO SYSTEM THEORY CH2203(3) : EM INTRODUCTION TO SYSTEM THEORY AM1201(4) : EM INTRODUCTION TO SYSTEM THEORY BI3021(3) : BI IS201(3) : ELECTRICAL MACHINES – II EC2001(3) : PM IS203(3) : ELECTRICAL MACHINES – II EC2001(3) : PM IS207(3) : POWER SYSTEM – I CH1402(2) : CH										NTAL S G MEC SCIEN G ELEO OF ELE	S & CO SCIENC HANIC CE CTROM CTRON	E S AGNET	ICS	RING				Contro	Pandey oller of Examin	ations	

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.